

1: $f(x) = \sin \frac{1}{2}x$

Desarrollo

- Aplicar fórmula

$$\frac{d}{dx} \sin v = \cos v \frac{dv}{dx}$$

- Derivar v

$$v = \frac{1}{2}x \quad dv = \frac{1}{2}$$

- Sustituir

$$f'(x) = \cos\left(\frac{1}{2}x\right) \frac{d}{dx}\left(\frac{1}{2}x\right)$$

$$f'(x) = \cos\left(\frac{1}{2}x\right) \left(\frac{1}{2}\right)$$

Resultado

$$f'(x) = \frac{\cos\left(\frac{1}{2}x\right)}{2}$$

3: $f(x) = 3 \operatorname{tg} 2x$

Desarrollo

- Aplicar fórmula $\frac{d}{dx} \operatorname{tg} v = \sec^2 v \frac{dv}{dx}$

- Derivar

$$v = 2x$$

$$dv = 2$$

- Sustituir

$$f'(x) = 3 \left[\frac{d}{dx} \operatorname{tg}(2x) \right] = 3 \sec^2(2x) \frac{d}{dx}(2x)$$

$$f'(x) = 3 \sec^2(2x) (2) = 3(2 \sec^2(2x))$$

Resultado

$$f'(x) = 6 \sec^2 2x$$

2: $f(x) = \cos(7-2x)$

Desarrollo

- Aplicar fórmula

$$\frac{d}{dx} \cos v = -\sin v \frac{dv}{dx}$$

- Derivar

$$v = 7-2x$$

$$dv = -2$$

Sustituir

$$f'(x) = \frac{d}{dx} \cos(7-2x) = -\sin(7-2x) \frac{d}{dx}(7-2x)$$

$$f'(x) = (-\sin(7-2x))$$

$$f'(x) = (-2)(-\sin(7-2x))$$

Resultado:

$$f'(x) = 2 \sin(7-2x)$$

4: $f'(x) = \sec(5x+2)$

Desarrollo

- Aplicar fórmula

$$\frac{d}{dx} \sec v = \sec \operatorname{tg} v \frac{dv}{dx}$$

- Deriva v

$$v = 5x+2 \quad dv = 5$$

- Sustituir

$$f'(x) = \sec(5x+2) \operatorname{tg}(5x+2) \frac{d}{dx}(5x+2)$$

$$f'(x) = \sec(5x+2) \operatorname{tg}(5x+2) (5)$$

Resultado

$$f'(x) = 5 \sec(5x+2) \operatorname{tg}(5x+2)$$

5- $f(x) = \sqrt[3]{\sin x}$

Desarrolla

- Aplicar $\sqrt[n]{a^m} = a^{m/n}$

$f(x) = (\sin x)^{1/3}$

- Aplicar $\frac{d}{dx} V^n = nV^{n-1} \frac{d}{dx} V$

Derivar V de V^n

$V = \sin x$

- Aplicar $\frac{d}{dx} \sin V = \cos V \frac{d}{dx} V$

$V = x \quad dV = 1$

$dV = \cos x (1) = \cos x$

- Sustituir

$f'(x) = \frac{1}{3} (\sin x)^{1/3 - 3/3} \cos x = \frac{1}{3} \cos x (\sin x)^{-2/3}$

- Convertir Radical

$f'(x) = \frac{\cos x}{3 (\sin x)^{2/3}}$ Resultado $f'(x) = \frac{\cos x}{\sqrt[3]{\sin^2 x}}$

6- $f(x) = \sin^3 3x$

Desarrolla

$f(x) = (\sin 3x)^3$

- Aplicar $\frac{d}{dx} V^n = nV^{n-1} \frac{d}{dx} V$

Derivar V de V^n

$V = \sin 3x$

- Aplicar $\frac{d}{dx} \sin V = \cos V \frac{d}{dx} V$

$V = 3x \quad dV = 3$

$dV = \sin 3x (3) = 3 \cos(3x)$

- Sustituir

$f'(x) = 3 (\sin 3x)^{3-1} (3 \cos(3x)) = 3(3 \cos(3x)) (\sin 3x)^2$

Resultado

$f'(x) = 9 \cos(3x) (\sin(3x))^2$

7: $f(x) = \cotg(3-2x)$

Aplicar fórmula $\frac{d}{dx} \cotg v = -\csc^2 v \frac{d}{dx} v$

- Derivar v

$v = 3-2x \quad dv = -2$

- Sustituir

$f'(x) = \frac{d}{dx} \cotg(3-2x) = -\csc^2(3-2x) \frac{d}{dx}(3-2x) = (-\csc^2(3-2x))(-2)$

Resultado: $f'(x) = 2 \csc^2(3-2x)$

8: $f(x) = \cos \frac{x+1}{x-1}$

Aplicar fórmula $\frac{d}{dx} \cos v = -\sen v \frac{d}{dx} v$

- Derivar v

$v = \frac{x+1}{x-1}$

Aplicar Cociente de funciones de $\frac{d}{dx} \frac{u}{v} = \frac{vdu - u dv}{v^2}$

$u = x+1 \quad v = x-1$

$du = 1 \quad dv = 1$

Sustituir

$du = \frac{(x-1)(1) - (x+1)(1)}{(x-1)^2} = \frac{x-1-x-1}{(x-1)^2} = \frac{-2}{(x-1)^2}$

Sustituir

$f'(x) = \left[\sen \left(\frac{x+1}{x-1} \right) \right] \left[\frac{-2}{(x-1)^2} \right] = \frac{2}{(x-1)^2} \sen \left(\frac{x+1}{x-1} \right)$

Resultado $f'(x) = \frac{2 \sen \left(\frac{x+1}{x-1} \right)}{(x-1)^2}$